

SOME NEW FINITE SUMS INVOLVING GENERALIZED FIBONACCI AND LUCAS NUMBERS

AYNUR YALÇINER

ABSTRACT. In this paper, we compute various finite sums that alternate according to $(-1)^{\binom{n}{k}}$ involving the generalized Fibonacci and Lucas numbers for $k = 3, 4, 5$ and even k of the form 2^m with $m > 1$.

1. INTRODUCTION

Define the second order linear sequences $\{U_n\}$ and $\{V_n\}$ for $n \geq 2$ by

$$\begin{aligned} U_n &= pU_{n-1} + U_{n-2}, & U_0 &= 0, & U_1 &= 1, \\ V_n &= pV_{n-1} + V_{n-2}, & V_0 &= 2, & V_1 &= p. \end{aligned}$$

When $p = 1$, then $U_n = F_n$ (n th Fibonacci number) and $V_n = L_n$ (n th Lucas number). Also when $p = 2$, then $U_n = P_n$ (n th Pell number) and $V_n = Q_n$ (n th Pell-Lucas number).

Also the Binet formulas of the sequences $\{U_n\}$ and $\{V_n\}$ are

$$U_n = \frac{\alpha^n - \beta^n}{\alpha - \beta} \quad \text{and} \quad V_n = \alpha^n + \beta^n,$$

where $\alpha, \beta = (p \pm \sqrt{\Delta})/2$.

Many author computed sums and alternating sums involving generalized Fibonacci and Lucas numbers as well as their certain products. For example, Melham [7] computed various finite non-alternating sums, alternating sums and sums that alternate according to $(-1)^{\binom{n}{2}}$ for certain generalized Fibonacci and Lucas sequences. In his result, the sums that alternate according to $(-1)^{\binom{n}{2}}$ are interesting because this sign function was firstly used in such sums. Here we recall one example for the readers:

$$\sum_{n=0}^{4j+3} (-1)^{\binom{n+1}{2}} F_{2n} = \frac{1}{3} F_{4j+4} L_{4j+3}.$$

The authors [3] presented generalized results on non-alternating sums, alternating sums and sums that alternate according to $(-1)^{\binom{n}{2}}$ by considering the results of [7]. We may also refer [2, 4, 5, 6, 8, 9] for some other known results.

In this paper, by considering early used sign function $(-1)^{\binom{n}{2}}$, we will derive new sums that alternate according to $(-1)^{\binom{n}{3}}$, $(-1)^{\binom{n}{4}}$, $(-1)^{\binom{n}{5}}$ and $(-1)^{\binom{n}{2^m}}$ for the generalized Fibonacci sequence $\{U_n\}$ and Lucas sequence $\{V_n\}$.

2000 *Mathematics Subject Classification.* Primary 11B37, 11B39.

Key words and phrases. Generalized Fibonacci and Lucas Numbers, Sums, Alternating Sums.

2. SUMS OF THE GENERALIZED FIBONACCI AND LUCAS NUMBERS

We are interested to evaluate

$$\sum_{k=0}^n X_{kr} (-1)^{\binom{k}{3}}$$

in closed form where r and n are integers, and X_n either U_n or V_n .

Now we will give our first result:

Theorem 1. *For any integer r ,*

$$\begin{aligned} \sum_{k=0}^n (-1)^{\binom{k}{3}} U_{kr} &= \frac{U_{nr} - (-1)^r (U_{(n+1)r} - U_r)}{2[r \text{ is even}] - (-1)^r V_r} \\ &\quad - 2 \frac{U_{nr} - U_{(n+4)r} + U_{3r} + (-1)^r U_r}{2 - V_{4r}}, \end{aligned}$$

where $[\]$ is the Iverson's notation defined as in [1].

Proof. Consider

$$\begin{aligned} &\sum_{k=0}^n (-1)^{\binom{k}{3}} U_{kr} \\ &= \sum_{k=0}^n U_{kr} - 2 \sum_{k=0}^{(n-3)/4} U_{(4k+3)r} \\ &= \frac{1}{\alpha - \beta} \left(\sum_{k=0}^n (\alpha^{kr} - \beta^{kr}) - 2 \sum_{k=0}^{(n-3)/4} \alpha^{(4k+3)r} + 2 \sum_{k=0}^{(n-3)/4} \beta^{(4k+3)r} \right) \\ &= \frac{1}{\alpha - \beta} \left(\frac{1 - \alpha^{(n+1)r}}{1 - \alpha^r} - \frac{1 - \beta^{(n+1)r}}{1 - \beta^r} - 2 \frac{\alpha^{3r} - \alpha^{(n+4)r}}{1 - \alpha^{4r}} + 2 \frac{\beta^{3r} - \beta^{(n+4)r}}{1 - \beta^{4r}} \right) \\ &= \frac{1}{\alpha - \beta} \frac{(-\alpha^{(n+1)r} + \beta^{(n+1)r} + \alpha^{(n+1)r} \beta^r - \alpha^r \beta^{(n+1)r} + \alpha^r - \beta^r)}{(1 - \alpha^r)(1 - \beta^r)} \\ &\quad - \frac{2}{\alpha - \beta} \left(\frac{-\alpha^{(n+4)r} + \beta^{(n+4)r} + \alpha^{(n+4)r} \beta^{4r} - \alpha^{4r} \beta^{(n+4)r}}{(1 - \alpha^{4r})(1 - \beta^{4r})} \right. \\ &\quad \left. + \frac{\alpha^{3r} - \beta^{3r} - \alpha^{3r} \beta^{4r} + \alpha^{4r} \beta^{3r}}{(1 - \alpha^{4r})(1 - \beta^{4r})} \right), \end{aligned}$$

which, by $\alpha\beta = -1$, equals

$$\begin{aligned}
 &= \frac{1}{\alpha - \beta} \frac{-\alpha^{(n+1)r} + \beta^{(n+1)r} + (\alpha\beta)^r (\alpha^{nr} - \beta^{nr}) + \alpha^r - \beta^r}{(\alpha\beta)^r - (\alpha^r + \beta^r) + 1} \\
 &\quad - \frac{2}{\alpha - \beta} \frac{-\alpha^{(n+4)r} + \beta^{(n+4)r} + (\alpha\beta)^{4r} (\alpha^{nr} - \beta^{nr})}{(\alpha\beta)^{4r} - (\alpha^{4r} + \beta^{4r}) + 1} \\
 &\quad - \frac{2}{\alpha - \beta} \frac{\alpha^{3r} - \beta^{3r} + (\alpha\beta)^{3r} (\alpha^r - \beta^r)}{(\alpha\beta)^{4r} - (\alpha^{4r} + \beta^{4r}) + 1} \\
 &= \frac{-U_{(n+1)r} + (-1)^r U_{nr} + U_r}{(-1)^r - V_r + 1} - 2 \frac{-U_{(n+4)r} + U_{nr} + U_{3r} + (-1)^r U_r}{2 - V_{4r}} \\
 &= \begin{cases} \frac{U_{nr} - U_{(n+1)r} + U_r}{2 - V_r} - 2 \frac{U_{nr} - U_{(n+4)r} + U_{3r} + U_r}{2 - V_{4r}} & \text{if } r \text{ is even,} \\ \frac{U_{nr} + U_{(n+1)r} - U_r}{V_r} - 2 \frac{U_{nr} - U_{(n+4)r} + U_{3r} - U_r}{2 - V_4} & \text{if } r \text{ is odd,} \end{cases}
 \end{aligned}$$

as claimed. □

For example, as consequences of our result, when $U_n = F_n$ and $V_n = L_n$, we get for $r = 1, 2$ and 3

$$\sum_{k=0}^{4n+3} (-1)^{\binom{k}{3}} F_k = F_{2n+2} F_{2n},$$

$$\sum_{k=0}^{4n+3} (-1)^{\binom{k}{3}} F_{2k} = -\frac{5F_{8n+6} + L_{8n+5} + 9}{15}$$

and

$$\sum_{k=0}^{4n+3} (-1)^{\binom{k}{3}} F_{3k} = \frac{-25F_{12n+9} + 8L_{12n+8} - 6}{20},$$

respectively.

When $U_n = P_n$, we get for $r = 1$,

$$\sum_{k=0}^{4n+3} (-1)^{\binom{k}{3}} P_k = -P_{2n+2} P_{2n+1}.$$

Theorem 2. For any integer r ,

$$\begin{aligned}
 \sum_{k=0}^n (-1)^{\binom{k}{3}} V_{kr} &= \frac{V_{nr} - (-1)^r (V_{(n+1)r} + V_r - 2)}{2[r \text{ is even}] - (-1)^r V_r} \\
 &\quad - 2 \frac{V_{nr} - V_{(n+4)r} + V_{3r} - (-1)^r V_r}{2 - V_{4r}},
 \end{aligned}$$

where $[\]$ is the Iverson's notation defined as in [1].

Proof. Consider

$$\begin{aligned}
 & \sum_{k=0}^n (-1)^{\binom{k}{3}} V_{kr} = \sum_{k=0}^n V_{kr} - 2 \sum_{k=0}^{(n-3)/4} V_{(4k+3)r} \\
 &= \sum_{k=0}^n (\alpha^{kr} + \beta^{kr}) - 2\alpha^{3r} \sum_{k=0}^{(n-3)/4} \alpha^{4kr} - 2\beta^{3r} \sum_{k=0}^{(n-3)/4} \beta^{4kr} \\
 &= \frac{1 - \alpha^{(n+1)r}}{1 - \alpha^r} + \frac{1 - \beta^{(n+1)r}}{1 - \beta^r} - 2 \frac{\alpha^{3r} - \alpha^{(n+4)r}}{1 - \alpha^{4r}} - 2 \frac{\beta^{3r} - \beta^{(n+4)r}}{1 - \beta^{4r}} \\
 &= \frac{\alpha^{(n+1)r} \beta^r + \alpha^r \beta^{(n+1)r} - \alpha^{(n+1)r} - \beta^{(n+1)r} - \alpha^r - \beta^r + 2}{(1 - \alpha^r)(1 - \beta^r)} \\
 &\quad - 2 \frac{\alpha^{(n+4)r} \beta^{4r} + \alpha^{4r} \beta^{(n+4)r} - \alpha^{(n+4)r} - \beta^{(n+4)r}}{(1 - \alpha^{4r})(1 - \beta^{4r})} \\
 &\quad - 2 \frac{\alpha^{3r} + \beta^{3r} - \alpha^{3r} \beta^{4r} - \alpha^{4r} \beta^{3r}}{(1 - \alpha^{4r})(1 - \beta^{4r})},
 \end{aligned}$$

which, by $\alpha\beta = -1$, equals

$$\begin{aligned}
 &= \frac{-\alpha^{(n+1)r} - \beta^{(n+1)r} + (\alpha\beta)^r (\alpha^{nr} + \beta^{nr}) - (\alpha^r + \beta^r) + 2}{(\alpha\beta)^r - (\alpha^r + \beta^r) + 1} \\
 &\quad - 2 \frac{(\alpha\beta)^{4r} (\alpha^{nr} + \beta^{nr}) - \alpha^{(n+4)r} - \beta^{(n+4)r}}{(\alpha\beta)^{4r} - (\alpha^{4r} + \beta^{4r}) + 1} \\
 &\quad - 2 \frac{\alpha^{3r} + \beta^{3r} - (\alpha\beta)^{3r} (\alpha^r + \beta^r)}{(\alpha\beta)^{4r} - (\alpha^{4r} + \beta^{4r}) + 1} \\
 &= \frac{-V_{(n+1)r} + (-1)^r V_{nr} - V_r + 2}{(-1)^r - V_r + 1} - 2 \frac{V_{nr} - V_{(n+4)r} + V_{3r} - (-1)^r V_r}{2 - V_{4r}},
 \end{aligned}$$

which, by the cases of r gives

$$= \begin{cases} \sum_{k=0}^n (-1)^{\binom{k}{3}} V_{kr} \\ \left\{ \begin{array}{ll} \frac{-V_{(n+1)r} + V_{nr} - V_r + 2}{2 - V_r} - 2 \frac{V_{nr} - V_{(n+4)r} + V_{3r} - V_r}{2 - V_{4r}} & \text{if } r \text{ is even,} \\ \frac{V_{(n+1)r} + V_{nr} + V_r - 2}{V_r} - 2 \frac{V_{nr} - V_{(n+4)r} + V_{3r} + V_r}{2 - V_{4r}} & \text{if } r \text{ is odd,} \end{array} \right. \end{cases}$$

as claimed. □

For example, when $U_n = F_n$ and $V_n = L_n$, we get for $r = 1, 2$ and 3

$$\begin{aligned}
 & \sum_{k=0}^{4n+3} L_k (-1)^{\binom{k}{3}} = F_{2n+2} L_{2n}, \\
 & \sum_{k=0}^{4n+3} L_{2k} (-1)^{\binom{k}{3}} = \frac{-L_{8n+6} - F_{8n+5} + 5}{3}
 \end{aligned}$$

and

$$\sum_{k=0}^{4n+3} L_{3k} (-1)^{\binom{k}{3}} = \frac{-9L_{12n+9} - 8L_{12n+8} + 20}{20},$$

respectively.

When $U_n = P_n$ and so $V_n = Q_n$, we get for $r = 1$,

$$\sum_{k=0}^{4n+3} (-1)^{\binom{k}{3}} Q_k = -P_{2n+2} Q_{2n+1}.$$

Now we give finite sums that alternate according to $(-1)^{\binom{k}{4}}$ for generalized Fibonacci and Lucas sequences.

Theorem 3. For even r ,

$$\begin{aligned} \sum_{k=0}^n (-1)^{\binom{k}{4}} U_{kr} &= \frac{U_{nr} - U_{(n+1)r} + U_r}{2 - V_r} \\ &\quad - \frac{2U_{4r}V_r}{2 - V_{8r}} (V_r + V_{2r} - V_{(n+2)r} - V_{(n+3)r}), \\ \sum_{k=0}^n (-1)^{\binom{k}{4}} V_{kr} &= \frac{V_{nr} - V_{(n+1)r} - V_r + 2}{2 - V_r} \\ &\quad - \frac{2U_{4r}V_r}{2 - V_{8r}} (U_r + U_{2r} - U_{(n+2)r} - U_{(n+3)r}) \end{aligned}$$

and for odd r ,

$$\begin{aligned} \sum_{k=0}^n (-1)^{\binom{k}{4}} U_{kr} &= \frac{U_{nr} + U_{(n+1)r} - U_r}{V_r} \\ &\quad - \frac{2\Delta U_r U_{4r}}{2 - V_{8r}} (U_r + U_{2r} - U_{(n+2)r} - U_{(n+3)r}), \\ \sum_{k=0}^n (-1)^{\binom{k}{4}} V_{kr} &= \frac{V_{nr} + V_{(n+1)r} + V_r - 2}{V_r} \\ &\quad - \frac{2\Delta U_r U_{4r}}{2 - V_{8r}} (V_r + V_{2r} - V_{(n+2)r} - V_{(n+3)r}). \end{aligned}$$

The next result present sums that alternate according to $(-1)^{\binom{k}{5}}$.

Theorem 4. For even r

$$\sum_{k=0}^n (-1)^{\binom{k}{s}} U_{kr} = \frac{U_{nr} - U_{(n+1)r} + U_r}{2 - V_r} - \frac{2U_{4r}V_r}{2 - V_{8r}} (V_{2r} - V_{(n+3)r}),$$

$$\sum_{k=0}^n (-1)^{\binom{k}{s}} V_{kr} = \frac{V_{nr} - V_{(n+1)r} - V_r + 2}{2 - V_r} - \frac{2\Delta U_{4r}V_r}{2 - V_{8r}} (U_{2r} - U_{(n+3)r})$$

and for odd r ,

$$\sum_{k=0}^n (-1)^{\binom{k}{s}} U_{kr} = \frac{U_{nr} + U_{(n+1)r} - U_r}{V_r} - \frac{2\Delta U_{4r}U_r}{2 - V_{8r}} (U_{2r} - U_{(n+3)r}),$$

$$\sum_{k=0}^n (-1)^{\binom{k}{s}} V_{kr} = \frac{V_{nr} + V_{(n+1)r} + V_r - 2}{V_r} - \frac{2\Delta U_{4r}U_r}{2 - V_{8r}} (V_{2r} - V_{(n+3)r}).$$

For example we get

$$\sum_{k=0}^{8n+7} (-1)^{\binom{k}{s}} F_k = -\frac{1}{3}F_{4n+4}L_{4n+2}$$

and

$$\sum_{k=0}^{8n+7} (-1)^{\binom{k}{s}} L_k = -\frac{5}{3}F_{4n+4}F_{4n+2}.$$

Finally we give a general result about the sums alternate according to $(-1)^{\binom{k}{s}}$ where the summation index k of the form 2^m with $m > 1$.

Theorem 5. For any integer r ,

$$\sum_{k=0}^n (-1)^{\binom{k}{2^m}} U_{kr} = \frac{U_{nr} - (-1)^r (U_{(n+1)r} - U_r)}{2[r \text{ is even}] - (-1)^r V_r}$$

$$- \frac{2}{2 - V_{2^{m+1}r}} \sum_{j=1}^{2^m} ((-1)^{jr} U_{jr} + U_{(2^m-1+j)r} + U_{(n+1-j)r} - U_{(n+2^m+j)r})$$

and

$$\sum_{k=0}^n (-1)^{\binom{k}{2^m}} V_{kr} = \frac{V_{nr} - (-1)^r (V_{(n+1)r} + V_r - 2)}{2[r \text{ is even}] - (-1)^r V_r}$$

$$- \frac{2}{2 - V_{2^{m+1}r}} \sum_{j=1}^{2^m} ((-1)^{jr-1} V_{jr} + V_{(2^m-1+j)r} + V_{(n+1-j)r} - V_{(n+2^m+j)r}).$$

As an example,

$$\sum_{k=0}^{2^{m+1}(n+1)-1} (-1)^{\binom{k}{2^m}} F_k = -\frac{\Delta F_{2^{m-1}}}{L_{2^{m-1}}} F_{2^m(n+1)} F_{2^m(n+1)+1},$$

$$\sum_{k=0}^{2^{m+1}(n+1)-1} (-1)^{\binom{k}{2^m}} L_k = -\frac{\Delta F_{2^{m-1}}}{L_{2^{m-1}}} F_{2^m(n+1)} L_{2^m(n+1)+1}.$$

Acknowledgement 1. *The author would like to thank Prof. Emrah Kılıç for suggesting the problem. This work is supported by the Scientific Research Projects Office (BAP) of Selcuk University.*

REFERENCES

- [1] GRAHAM, R.L., KNUTH, D.E., PATASHNIK, O., *Concrete Mathematics: A Foundation for Computer Science*. Addison-Wesley, 1992.
- [2] KILIÇ, E., Sums of the squares of terms of sequence $\{u_n\}$, Proc. Indian Acad. Sci. 118(1), 27-41, 2008.
- [3] KILIÇ, E., ÖMÜR, N., ULUTAŞ, Y., Some finite sums involving generalized Fibonacci and Lucas numbers, Discrete Dynamics in Nature and Society, Article ID 284261, 2011.
- [4] KILIÇ, E., ÖMÜR, N., ULUTAŞ, Y., Alternating sums of the powers of Fibonacci and Lucas numbers, Miskolc Math. Notes 12(1), 87-103, 2011.
- [5] KITAEV, S., MANSOUR, T., Linear recurrences and Chebyshev polynomials, The Fibonacci Quarterly 43(3), 256-261, 2005.
- [6] MANSOUR, T., Generalizations of some identities involving the Fibonacci numbers, The Fibonacci Quarterly 43(4), 307-315, 2005.
- [7] MELHAM, R.S., Certain classes of finite sums that involve generalized Fibonacci and Lucas numbers, The Fibonacci Quarterly 42(1), 47-54, 2004.
- [8] MELHAM, R.S., Sums of certain products of Fibonacci and Lucas numbers, The Fibonacci Quarterly 37(3), 248-251, 1999.
- [9] MELHAM, R.S., Sums of certain products of Fibonacci and Lucas numbers-Part II, The Fibonacci Quarterly 38(1), 3-7, 2000.

SELÇUK UNIVERSITY, FACULTY OF SCIENCE, DEPARTMENT OF MATHEMATICS, 42075, CAMPUS, KONYA, TURKEY

E-mail address: ayalciner@selcuk.edu.tr